EARAROBEEIERT — 2 N— IBISH —F

20129F8 4290 (k) 5EIEFRSH

mﬂﬁ%Sﬁi ci1C2 (w8 | mEmml - |5 @) o s
[A&4£] 1% :350,000” ~ 23#%&:63,000”  33#%&:31,500MH  43%&:17,500 . 57 :10,500 {
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o =i > WARFELR :59. -1-1- . - BEKEN (BH
B =T > 8 2N 1(5_9)2 1-1-1-1 | 38.5 4 a(;o) 55%%
A2 Y4~y BITRTET i/ ce ]
N = > ArIE :59. —5-2- . - A (EH
|| 5| 3-1 K752 ks o el kBl I e+
L:ZXF v a2—HId—IF B:9IA4T77h VDAY ¢
s 11| EEE 1:59.4 6-6-5-3 |38.2| — 5 443 | BiER (Ff)
sl 6| RE—RAT v — g 5.0 (7€) ) EIE]%
Lyl BIUF—R%— J—HrTr—L
alglo| 7ERIX TR i 5 5—?’%}2 2:(060).4 2-2-3-3 [39.4| — 3 489 gggi (Ciclo)
QUL RYSYRTIR BHS R HFa— S B SR
3 s o4 | JIRE— 2:00.4 3-3-4-5 [39.2| — 7 437 | BEITHR ()
51717 EX/F7F 53.0 (F5%) 43) % R NER
R:HI75TLIF b B:1T7I/FER [ihEaes]
o= 1 PO RAFA :00. -8-10- . = FHEY (F)
6 4| TRy TE= 3 R (22010/28) 8-8-10-10 | 39.1 8 (4+439) e
24 LINTZ Ry X B:A—XT7A4 %2R EE &
L N 44 | EmEE— 2:01.0 4-4-8-9 |39.8| — 9 419 | FUSIERS (FEH)
ARIEREAR 2SR A 55.0 (1) 43 |8 A—FLu b
L—A7Aa—- B:ALIRF2 b [Ep%se]
. K & ABB : 87— — FEHE (B/)
gl7lg| For oL b 3 oy 2(;11:; 9-8-7-6 | 39.6 6 (3329) ;ﬁ@%
R:YLKYIYRIR BALITINky—F 7 7 — L
4 8 | ZHER 2:01.4 10-10-9-8 | 39.5| — 10 | 443 |REES (EB)
91810/ /NN REA L 57.0 (1 3/4) (3 | W) Fr-ZbEva>
R:2=/XLLy b B:77EZZX2-2 HE77—»4L
= ;@ El5-GIN : —7-6- = FHEY (Fh)
" . PAEZEI HEn 208 | M7 408 2 | s Rz
RSNy BEhTT BHITNTH BEE
® 1—F—@EBIERL
1T=7r= 3,9,7,1,5,6,2,4,8,10
2a=5"= 3,9,7,1,5,6,2,(4,8),10
Ja=5= 3,5,9,7,6,2,8,1,10,4
43—+— |3,5,(6,9).7,8,2,10,1,4
[ /N
B 3 990H 714K 3-5 370 B 3-5 1,210 JEE 3-5-6 2,200/
B B 3 140M 3-6 570M B = B 880M JEE 3-5-6 10,880M
5 130H4 5-6 630M B H 3-5 2,190M
6 280M

ABICOVWTRDTEEERROODE. TR LIV,




